REPLACEABLE PARTS LIST

HOW TO OBTAIN PARTS

For Philips Export B.V.:
Contact your local Philips Sales and Service representative. The addresses and telephone numbers
are listed in this manual at the end of section 11: "Sales & Service all over the world".

For the John Fluke Mfg. Co., Inc.:

Contact your local Fluke authorized representative. In the U.S. order directly from the Fluke Parts
Dept. by calling 1- 800-526-4731.

To ensure prompt and efficient handling of your order, include the following information:

1. Model number (PM xx), (Fluke xx), Code number (9444 ... ..... ) and Serial number (DM......). The

items are printed on the type plate on the bottom cover.

2. Ordering code
3. item number
4. Description

5.  Quantity

Table 9.1 ScopeMeter final assembly. (See figure 9.1)

When servicing the ScopeMeter, use only the replacement parts specified.

ltem | Figure Description Ordering code Qty
1 9.1 Top cover assembly PM93 5322 447 70108 1
1 9.1 Top cover assembly PM85 5322 447 70109 1
1 9.1 Top cover assembly PM97 5322 447 70104 1
1 9.1 Top cover assembly 93 5322 447 70105 1
1 9.1 Top cover assembly 95 5322 447 70111 1
1 91 Top cover assembly 97 5322 447 70115 1
2 9.1 Keypad PM93/93 5322 218 61461 1
2 9.1 Keypad PM95/95 5322 218 61459 1
2 9.1 Keypad PM97/97 5322 218 61457 1
29 9.1 Bottom cover torx-screw blank M3 5322 502 13772 2
30 9.1 Board A2 torx-screw blank M3 5322 502 13772 2
31 9.1 Input unit torx-screw blank M3 5322 502 13772 2
32 9.1 30-pole flat cable 5322 321 61238 1
- - 30-pole extender flat cable for

repair purposes 5322 321 61369 1
33 9.1 Top cover torx-screw blank M3 5322 502 13772 2
34 9.1 Top screening A2 front unit 5322 447 70129 1




